{ LEVEL 1 — COORDINATE GEOMETRY

Note: Only turn back to page number if you have difficulty
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Q2. Find the midpoint of the interval joining:

(a) (2,3)and (6, 9) (b) (4,5)and.(2, 1)
(¢) (7,—3)and (0, 7) (d) (~5,2)and (9,-4)
(e) (-6,—1)and (5, 3) (H) (1,—8)and (-4,-3)

Q3. Find the distance between the points:
(a) (4,3)and (2,9) (b) (6, 1) and (-3, 5)
(¢) (=1,4)and (2,-8) (d) (2,-3)and (—1,—-4)
(e) (5,-8)and (—~7,2) ) (0,-3)and (8,0) -
Q4. Find the gradient of the line passing through: | |
(a) (0, 0)and (6, 3) (b) (5, 1) and (2, 6) -
(¢) (—2,0)and (7, 1) (@ (-4, Dand (-2,-4)
() (6,-6)and (- 1, 3) (f) (8,-2)and (-5,2)
Q5. Graph these lines:
(@) y=2x+1 (b) x=5 ) y=x
(d) y=3-x (€) y=4x-5 (H y=-3

Q6. Find the gradient and y-intercept of the following lines, then sketch
each line:,

(a) y=5x-2 (b) y=—2x+3 c) y=—x-4

(d)yxl—%x ©) y=-x © y=--x
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LEVEL 1 — COORDINATE GEOMETRY CONT.

Note:  Only turn back to page number if you have difficulty
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Q7. Write the following equations in the form y = mx + b, and hence find
- the gradient and y-intercept of each one:

(a) 2x—y+3=0 (b) 4x+2y—-6=0

(d) x+5y=0 ) 2x-3y+1=0

(©) 3x-3y+2=0
) x—4y=4

Q8. Find the equation of a straight line with:

(a) a gradient of 3 and passing through the point (4, 3)
(b) a gradient of —2 and passing through the point 2, 7)
(c) a gradient of 5 and passing through the point (-3, 5)

1 :
(d) a gradient of - and passing through the point (5, —2)

(e) a gradient of % and passing through the point (—4, 3)

Q9. Find the equation of the straight line which passes through the points:

@@, Dand (5,7) ®)(1,3)and 4,-3) - (c) (4,-8)and (0, 8)
D¢ 1L-Dand(1,5) (2,7 and(6,-5) ©(~3,-4)and9,2)

Q10. Which of the following lines are parallel to y = 2x — 5:
20+y-2=0, 2x-3y+2=0, 2x—y+1=0, 4x-2y+3=0

Q11. Find the equation of the line which cuts the y-axis at— 3 and is
parallel todx -y + 1 =0.

Q12. Which of the following lines are perpendicular to y =-- 3x + 2:

3y—x+3=0, 3x+y-2=0, 6y—2x+4=0, 3x-3y+3=0

: : : s . 2
Q13. Find the equation of the line which is perpendicular to y :-gx -1

and has y-intercept 5.

Q14. Which of the following points lie on the line 4x —y +3 =0
(3,15) (=5,—15) (8,35) (-~8,-35) (4,19)

. Show that the points (-4, — 5), (2, —2) and (8, 1) are collinear.
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LEVEL 2 — COORDINATE GEOMETRY

Ql.

Q10.

QlL.

QI2.

Q13.

Find the equation of each line below:

Find the equation of the straight line passing through the midpoint of the interval
joining (6, 2) and (- 2, 4), and the origin.

The midpoint of an interval is (2, 4). If the coordinates at the ends of the 1nterval |
are (m, 5) and (8, n), find m ‘and n.

A and B are the points (-3, 4) and (6, - 2) respectively. If M is the midpoint of
AB, find the distance BM.

Find the equation of the line which passes through the point (6, — 4) and is parallel to
the line 2x -3y +3 =0,

Find the equation of the line which passes through the points P(0, a) and Q(a, 2a).

Find the equation of the line perpendicular to 5x + 2y — 1 0, and passing
through the pomt -2,7). -

Show that the triangle whose ﬁertices are A(3,6),B(-2,-4)and C(-5,2) isa
right angled triangle. Find the area of the triangle.

Prove that.a quadrﬂateral ABCD with vertices A(=1,4), B(-3,3), C(1, 2) and
D(3, 3) is a parallelogram.

The vertices of a quadrilateral are A(-2, 3), B(5, 4), C(4,—3) and D(- 3, — 4).
Prove that ABCD is a rhombus. Find the area of ABCD.

Find the equation of the straight line passing through the point (2, 1) and
through the point of intersection of 4x —y—1=0and 2x—y + 5 =0.

A, B and C are collinear points and AB = BC, If A is the point (4, 5) and B is the
point (1, —1), find the coordinates of C.

Find the equation of the Ime which passes through the point of intersection of
5x=3y+2=0andx+3y+1=0, and is parallel to 2x + 3y + 3 =0.




Level 1 — Coordinate geometry - ANSWERS

QL A, 3) B3, 5) C(~ 7, 0) D(- 3, - 6) E(2, - 2) F(0, 0) G(7, - 6) H(S, 0) I(- 5,-2) 0, - 3)

1
Q. @(4 6) (3 3) ()] (3%, 2] (@ (2, -1 ©) (-—% 1) 3] [*—1—;:, -5—

e

2
Q3. (@) 2410 units  (b) 407 units (©) V153 units (d) 10 units  (¢) 261 units (£) /73 units
1 .2 1 1 9 4
Q4. (&) ) (b *1"5 (©) 5 (@ —25 & 3 4] G
Q5. (@ . (b) y (© y4
x=5 iy' —-x
5 x 7 x
@ © ® yA
y =j§___’:r
-3

Q6. (@m=5, b=-2 bym=-2, b=3 (c)mz-z-, b=-4 (d)m=-—é-, b=1

©m=-1 b=0 Bm=-1, b-—-%

' . 2 . 1
Q7. @m=2, b=3 ®ym=-2, p=3 Cym=-1, bz——3— (d)m:m—S-, b=0
2 1 1 '
ym==, b== m=—, pb=-1
3 3 ® 4 . ,
Q8 (@y=3x-9 byy=-2x+11 (c)y=3x+20 (d)y:-—-;—x-i--é- (
2 2
(e)y= 3. x+5 5 (NOTE: Answers may also be written in general form)
Q9’. (@y=2x-3 bByy=-2x+5 ©)y=—4x+8 Dy=3x+2 '
3 1
(e)y=-—5x+4 (f)y=—;—x-—25 (NOTE : Answers may also be wrilten in general form) ,
Qi0. 2x—y+1=0 and dx—2y+3=0 Qli, y=4x-3 or dx—y-3=0 )
3
QI2. 3y-x+3=0 and 6y-2x+4=0 Q13. y=—5x+5 or 3x+2y~10=0
Ql4. (3, 15), (8, 35) and (4, 19 QI5. Pointsliconlinex~2y —6=0 ‘

Level 2 — Coordinate geometry - ANSWERS

2 1
QL. (a)y=—3-x+2 (b)}’=—51—1 (¢} y=4x-2
Q2 3x-2y=0 Q3. m=-4,np=-3
411 .
Qa. YU it Q5. 2x-3y-24=0
Q6. x—y+a=0 Q7. 2x—5y+39=0

1 .
Q8. mep = 5 Mep == 2 . perpendicular, Area = 30 units®
(NOTE: Can also use Pythagoras’ Theorem)

Q9. AB=CD=+/5 tnits; BC=AD = V17 units; MAR = mpc =% s~ AB [1 DC
1
mB_szAD=—Z ~ BC IIAD

' 1
QI0.  All sides are 542 units; map = mep = & .. AB |l CD; QIl. y=2x+5
AB CD 7
mBpe=map=7 .. BCI|AD. Q12. (-2,-7)
QI3. 12x+18y+5=0
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